
{
n

R
C'

n =
n

R
C&

n l
n

1:1R
ô
n

n

C
H'

n =
n

C
H&

n l
n

1:1C
ô
n

0 1
−1 0
−−−−−−→

0 1b
−1b 0

{
n

1:1R
ô
n

n

1:1C
ô
n

� � nC'
n �

R
� 1 0

0 −1

∗

R
� =

0 1
−1 0 R

�

R
� 0 1
−1 0︸ ︷︷ ︸

t

R
� 0 1

1 0

0 1
1 0

∗

R
�︸ ︷︷ ︸ =

0 1
−1 0

1 0
0 1

R
�

t

R
�︸︷︷︸ 0 1

1 0
=

0 1
−1 0

0 1
1 0

=
1 0
0 −1

� � nH'
n �

C
�

−i 0
0 −i

i 0
0 −i

1 0
0 −1︸ ︷︷ ︸

∗

C
� =

−i 0
0 −i C

�

C
� −i 0

0 −i︸ ︷︷ ︸ =
C
i

i 0
0 −i

∗

C
�

=
−i 0
0 −i C

= i︷︸︸︷
�i

∗
�

Y [
=
−i 0
0 −i C

i =
−i 0
0 −i

i 0
0 −i

=
1 0
0 −1


